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4 44692 100 |=VLOOKUP(C4,$1$4:$L.$9,2,FALSE) =VLOOKUP(C4,$1$4:$L.$9,IF(F4>=5,4,3),FALSE)

5 44694 101 |=VLOOKUP(C5,$1$4:$L.$9,2,FALSE) =VLOOKUP(C5,$1$4:$L.$9,IF(F5>=5,4,3),FALSE)
6 44696 105 |=VLOOKUP(C6,$1$4:$L.$9,2,FALSE) =VLOOKUP(C6,$1$4:$L.$9,IF(F6>=5,4,3),FALSE)
7 44701 103 |=VLOOKUP(C7,$1$4:$L.$9,2,FALSE) =VLOOKUP(C7,$1$4:$L$9,IF(F7>=5,4,3),FALSE)
8 44703 102 |=VLOOKUP(C8,$1$4:$L.$9,2,FALSE) =VLOOKUP(C8,$1$4:$L.$9,IF(F8>=5,4,3),FALSE)
9 44705 104 |=VLOOKUP(C9,$1$4:$L.$9,2,FALSE) =VLOOKUP(C9,$1$4:$L.$9,IF(F9>=5,4,3),FALSE)
10| |44707 102 |=VLOOKUP(C10,$1$4:$L$9,2,FALSE) =VLOOKUP(C10,$1$4:$L$9,IF(F10>=5,4,3),FALSE)
11| |44708 105 |=VLOOKUP(C11,$I$4:$L$9,2,FALSE) =VLOOKUP(C11,$1$4:$L$9,IF(F11>=5,4,3),FALSE)
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3 HE = A e pGEACH==K i N E
4 17 =E4*F4 100 FLZIE 481 =ROUND(K4*(1-$L$2),0)
512 =Eb*FbH 101 R 462 =ROUND(K5*(1-$L$2),0)
6 |6 =E6*F6 102 INZ R 452 =ROUND(K6*(1-$L$2),0)
7 13 =ET7*F7 103 2/ 528 =ROUND(K7*(1-$L$2),0)
8 |4 =E8*F8 104 D)5+ 424 =ROUND(K8*(1-$L%$2),0)
919 =E9*F9 105 HADIT |5b3 =ROUND(K9*(1-$L$2),0)
10 |2 =E10*F10
1115 =E11*F11
12 |[=SUM(F4:F11) |=SUM(G4:G11)
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